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00000000000 ¢=2z+40000000000/(f)"0)|>2000 n00000000
00000000000 ¢00000000000000000WhileDOODOOO000000000
00000000000000 m0000000000 |(f)*(0)]>2000 m000 n<mO000
000000000000000000 m000000

00000000000 %, yO —225<x<0.75, —1.5<y< 15000000000 £[x,y,60]
0000000000000000000000000000000000000 Mathematica 000
0000000000000

3.8 U00O0O0OODOOODLOODOOOO

00000000000 y=f(x)0000000000000O0DOODOODOOOO0O0OOOOOOOO
vbobobogbouoboboooboobooboboobooboooobooboboooboobooon
bobobooboobooboooboobooooobooboooboooboooboobooobooobooobooo
oog

33



oO0oO0oooOlcooooooOoO0oooOobOOo0OoOo3doooOoOo0ooooOoOo0oOoboooOoOoOoooononn
00000000000 000000DO(00000D)000000D0O0000001/3 04000000
000000000000000000000000000000000 1/90160000000000
gboboboobouobobooobooboooboobooboobooobooobooboobooobooobooo
ogoon

O0O00000o00C0O0O0O0ODOOOOOO0OCODOOOCDOOODOOO0O0OOd Imm, 2mm,3mm,
..goboobooboboboboboboboboboboboboboboboboboboboboo
oooodfo0.9mm, 0.8mm, .. 0 0000000 OO0OOOOOO0OOO0O0ODOO0ODOODOODO
gbooboboobobodbuoboobooboboobobodandg

A )

1
uboboboooobdoboboboboooboobobobdg zy0OO0O4d <8>D (0> guo

34



000000000 Kooooooo

n(y)=(0s)

00000000000 1/30000000000000

w(3)= (8 ) GR) - ()
a(3)- (a2 ) (s + (%)

m()- () (%)

000000 FR 0O 00000000 600000 0000000 1/30000000000
O00F 0 FA 00000000 12000000 20000000 2/30000000000000
F,0 O 000000 2/30000000000000000000000000

K = Fi(K) U Fy(K) U F3(K) U Fy(K)

000D00001/30000000400000000000000000000D00000O0DOO0OO
googoo

0000000000001000000 [0,1]00000000 1. 0200000000 1/3000
0400000000000 4/3. 0200000000 1/900001600000000000 16/9.
0000000 00000000000 1/3"0000 4"00000000000 (4/3)". 000
n—oo0000000000000000000O000O00O0O0O0O0O0O0O0O0O0O0O0O0OO0O0O0O0000
0000000000000000000000000000000

doooooobooobboooooooooooodog noooogooooo 1/3”DDDD 4m
0o00000ooooopDoooooboooolooon 1/3"DDDDDDDDDDDDDDDDDDDD
0o0o0o0o0o0o0o0oooooooooooon 1/32"DDD
4n 4m
00000 n—oo000O0ODODOD KOOOO 0OOODODDODOODOOOODOODDODODOOOOO
goooooooooooooooo

Mx(%) (000DD00), 4”x(%> (000DOo00).

35



oboooooogn

1 n
(3.3) 4"><<3—a)
gododooooooouooooooboood nOob00oooooooooobon0 cooono
00000000000 0ddddd o=10000000000000=20000000000
D0000000(3.3) 0000 n— oo 00000000000 a<logd/log3 00000000
a>logd/log3 0000 0,000 aw=1log4/log30000 10000000000 co00 000
bl o, 0000

log4/log 3 = 1.261859507...

000000 KODoooooooooooooo

00000000 (Hausdorff)DODOOOODODOOOOO0OODOO0OO0O0DODOOO00OODODOOOOOD
00000000000 00000000D00000 (70000000000 O00000000000
gooooooooOoOoOoOoOoOO 1,000000000000000O0ODO 200000000000
oboooboboobobooboboon

000000 ADO P=(xy,y)00PO0O00OODOO0OOO(>0)0000000000 ADD
0000000000000 000AOODOOOUOUOO0OO0OO0O0OO0OODOOOOOUODO0OOOOO
oO00O0OO0O00000o0CoOoDOOO0000d0 2000000000 0ODOOO0O0O0OObOOODOOOO
oob20000000000DO00DOO00DOO0DOO0O0DO0O0ODO0ODOODOODOODDODODO
vbobobogbouobobooobooboobobooboobooooboobooboooboobooon
ocoooOOoOoOoOoooooOoObOOOOoOo0oooboOoObDOOO0O 20000000000 0O0ODOOOO
0000000 000000000019980000000(000000)Dboo0ODODb0O00000o0n

oo.0ooooboooooboooooboboooooboobooon 20000

gboboobooboboboboobooboboooboobboobg eOoDO fc(z):ZQ—i—cD
ooooboooboobooobobob 20000bDb0O0ODObDOOD

ocooooooooooboooooooOoooDboOoOooooOobo0ooOoD ooooDObOOoOoOoDooOo
000000000000 0000000D00000000D000000OO0D0O0(0O0DOOD0O00000
goooooooOoOoOoOoOCCOOOOOOOODDODODODOODOOOOOOOOOOOOOOOOOOOO0
ooboobooboobooobooobooboooooboobooobooooobooboobooobooooon
00000000 +/3000000000000000000000000000 1.7320508... 0000
vbobobogbouoboboooboobooboboobooboooobooboobooobooobooon
bobobooboobooboooboobooooobooboooboooboooboobooooobooooo
uboboobooboooboobooobooboooooboobooooboooooboobooobooobooooon

36



uboboobooboobooobooobooboooooboobooooboooooboobooobooooboooaoon
oobooboogobooooooooooooboooboobooboobbobbooob obooDoO
goboobooboobobooobobooobo

gboooooobobooboboboooobobobooboboboobooboboboon
gobooobooobooobooobooboooooboooooomooooooobooooooDo
O0000O0O0O0000D000000000000000000O0ODODODOD [9)00000000O

oo

[1] Oooo0o,0000b0@m@Oooooo0oo,b0o0000o1992
[2] Royden, H., Real Analysis(3rd Edition), Prentice Hall, 1988.
3] 0000,000000000000040501995.

[4] OO000,000000000000001988.

[5] Solovay, R., A model of set theory in which every set of reals is Lebesgue-measurable, Ann.
of Math., 92 (1970), 1-56.

[6) O0000,00000000000000000000000000000I0O000, 1997.
[77 K.J.OODODODOD,00000000000,00000.
] OOOO,00000IL,000, 1999.

[0 bDODO000000000000,00000000D0D0O.

37



